1/od?/ dp™dm™M1/Gevd

Ratio to ATLAS

13000 GeV pp it

-
<
I

top

T (ATLAS semileptonic ttbar)

P

Rivet 3.1.10, = 3.5M events

[HEN
o
&

T

=
o
&

mcplots.cern.ch [arXiv:1306.3436]

B ATLAS
—A— Pythia 6.428 370
--H-- Pythia 6.428 391

107" = Pythia 6.428 default —
~ % Pythia 6.428 pro-g2o B =
_l | | | | | | | | | |_
= ' ' ' ' ! ' ' ' ' =
2 E =F:
; ____________________________ X ;
- T ee———— — .

1 R ) 1
0.5 —0.5
l . L . L . L . L . l . L . L . L . L . l

0 500 1000

pt"= [GeV], m>*M in [550,700] [GeV]



	Contents
	Page 1


